EARAROBEEIERT — 2 N— IBISH —F

2019547148 (B) 3EIFI8H

m"fﬁ%Sﬁ KREBF 4t [EE] B#b ‘ (%] W ‘ (ERE] - | 4 (&) 18000 B
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
—_ J::: . —D_D_ N7 3
1 gl ¥roFa M- b 3 ;%U(J)%A 1.(5_6).2 2-2-2-2 |38.1|85.1 | 4 | 452 ;Qﬁlég ()
T4 bT—EY Bixv T xNA (+2) HEBT 57— L
= o Sy 4t 3 | FlREX 1:56.5 4-5-5-4 |38.1| 825 | 2 464 | BMEZ (ERH)
218115 |*"]‘—77 v v 54.0 (1 3/4) (+2) | I
R:TT9IEAF BTF—RT A ¥ — Ja—J—77—LA
o s 3 | M. FLA-\ 1:56.7 6-7-7-7 | 38.2| 80.8 | 1 518 | DAEEAERL (i)
318l16| EFH— bKRILA 560 (1 1/8) (-12) | B) HAL-—2A-Z
L:0—-KH+a7 B:FRLHTXILAH (B) #BA3—-RKL—va>aE77
. 4 3 | BAKHE— 1:56.8 1-1-1-1 | 38.7( 78.6 | 3 444 | REE— (EH)
4 KN 5 by A7) —=7 540 (1/2) (-2) | R ST —$5TLy KR
LNZ—ka1—-X BUIXRE 7> O— JIRBLT7—L
1) A 3 | ®e 1:57.2 10-10-2- R . HAE (EH)
51510/ 7Y 7Y # 54.0 (251/2) 0-10-2-3 [39.1[73.6 | 5 422;1 A
R:ANT7r—"7J) B:75=—-704K J—YTr—LA
== 3 | SHEK 1:57.5 4-3-5-4 [39.1| 71.6 | 7 420 | FIEHIE—EB (%3#)
el 4774 ‘ 54.0 (1 3/4) () |FIHET
L:¥r/07a4 B:vxvxa-7 #stt /—Xex
= it 3 | AlElE 1:57.6 12-12-7-8 | 39.1| 71.0 | 6 450 | AFERL (EH)
7N 7| ATV —F 54.0 (3/4) o |BEESHYILY
L=t RILELS B:ULTLy b J—HrTr—L
s 3 | IHEES 1:58.2 13-13-11-11{ 39.4 | 65.5 | 12 | 448 |AILEZ (i)
g 7|13 /7 xEF el @172 (-g) |EHAS
R:VvRE2914 B:/T7Xh—Lvy bk PR e
. N A :58. —-3-2- . . FEHE#E (ER
9 1 7RO TxHS [B] 4 3 Al 1(518)4 2-3-2-6 | 40.2| 62.2 | 11 (432) At S Ly K5 5T
R:7ROAXLTEL B:7RA/HCHFY EA
o = o [ e N: :58. —7-11- . . HEIRE (ER)
I EEP RS i 3 Al (11518/46) 8-7-11-11 | 39.9 | 60.5 | 10 a:g;; %E%:Eﬂ
R:7A7% B:vU—-vrrIIn Bt &
N = FIR—1 : —9-0- KPIETE (7
ilzlial TLFE R TS i 3 PR 1(/53? 8-9-9-8 |40.0| 60.3 | 14 ;1_520) phee
QXL veH/EwE BIUTFAIUT BRAIS
s 4 3 | FAA 1:59.0 6-5-9-8 |40.4| 57.6 | 8 458 | REEE (FH)
12|59 | P=t=~75—F 54.0 21/2) 10y | B
L:ib—t>hvLARY B:h—t>T7—+b RS IXT177—L4
N 4 3 | RLRK®E 1:59.4 15-15-14-11] 40.3 | 54.3 | 15 | 456 |EHB (EiH)
1312 7V F-IN 50 @ 1/2) o |EEEE
R:AX—b77)0> BET4—4—7 ke
ISP S S it 3 | BEREAAR 1:59.6 10-11-13-14| 40.6 | 53.1 | 13 | 492 |#MBHETZ (EXR)
14 3|~F L v —x A51.0 (1 1/4) -2) REIBFIEHD (%)
LG4 7 T—IWEY B:I—-S>/N—/\— SIS
_ KB . _13-14— FIHEEE= (/)
15 6| TZTU =52 it 3 N (17;52% 13-13-14-15| 40.4 | 52.8 | 16 (4:0) e
LXK A7 B:IXv-TL LEHS
. . . B AT . 1A-16 AKEEF (353/)
6111 vneaALs 4 3 i (27.9{5.;) 16-16-16-16| 43.3 | 16.5 | 9 (412) A(:g) i
L4 XSw ML BiZY /ALK Srdie)
@ 71 L
) 51.5-38.1
NA>Z24 L | 12.6-11.5-13.0-14.0-13.6-13.4-12.8-12.5-12.8
® I —F—@EBIERL
13=3r= 5(8,11) (4,15) (9,16) (2,14) (3,10)-7(6,13)-12=1
20—+ — 5,8(4,11) (9,15) (2,16)14,10,3,7(6,13)-12=1
Gol=5r= (x5,8,11,10) (4,15) (16,7) (9,14) (2,13)3(6,12) =1
40—+ — (x5,8)10(4,15)11,16(9,14,7)-(2,13,12) 3,6=1
[ N3
B O 8 630M 714K 8-15 360M e E 4-8 4108 JEHE 8-15-16 1,050
8 B 8 1509 8-16 330M B = 8-15 1,120 B 8-15-16 7,640MH
15 130 15-16 250 B H 8-15 2,510
16 1304

ABICOVWTRDTEEERROODE. TR LIV,




